Diagnostic Test KEY for B1+ level Top score is 32 points

Name:

Answer Key:
Section I: Grammar:
1b (vocabulary),

2c (infinitive/ing),
3b (past tenses),

4c (past tenses),

5c (conditionals),
6a (past tenses),
7b (prepositions),
8c (future tenses),
9c (vocabulary),
10a (future tenses),
Ma (idioms),
12b(infinitive/ing),
13c (conditionals),
14b (quantifiers),
15b (phrasal verbs),
16a (infinitive/ing),
17b (presenttenses),
18b (past tenses),
19a (prepositions),

20c (past tenses)

Questions: 20
Correct answers:
Section Il: Reading:

1H, 2A, 3E, 4F, 5G, 6B, 7C
Questions: 7

Correct answers: ____
Section I11: Listening:
1b, 2a, 3b, 4c¢, 5b
Questions: 5

Correct answers: ____

Total questions: 32

The TOTAL correct answers:
Calculation of the result: (Correct answers /32 )*100= %

With a score of 20 correct answers( 65%) and more, you would pass the B1 level .

With a score of less than 20 correct answers(65%), you would not pass the B1 level.



